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Paper / Subject Code: 40521/ Englneermg Mathematlcs-IV

SF COHP/j err - \// = Sc/lomQ/ S - 2,3 /03‘?11 zrn;
' 'i‘ime: 3 hrs @F 4— Z 6‘8 Marks 80 i

Note :

1) Q. No. 01 is compulsory.

2) Solve any three from Q No 02 to 06.§. ‘

4) Use of statistical tablegj_,\t,s alloweq

Q. L. Solve.
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: c) Solve the! LPP by Big -M method

Maxn‘mze Z= 3X -2Xy

<2, X1+3>3 Xi,X2, 20, 8
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Paper / Subject Code: 40521 / Enginq@ﬁiﬁg Mathcf;jfﬁ;ltics-

a) Find inverse Z transform of F (z)

b) The following data represent. the marks; c’ﬁbtamed by 12 students in two tes
before the coaching and the other after‘the coachmg 7
Test] : 55, 60,65,75,49; 25, 18, 38535, 511, 64, 72
Test1l : 63,70, 70,81, 54 29, 21,38, 32, 50,70, 80. > .
Do the data indicate that the coachmg was: effectlve in 1mpr0vmg the performance
of the students? ,

c) Find all p0551b1e Laurent s series expansmns of the functlon f (z) =&

Q.5.
a)
4 falr -¢oins.
c) Solve the NLPP , 2 <y ‘
Optimize Z = 1Qx1 + 8x, F 6x3 4 2x1 + o st 3x3 - 100
Subject to x, +x2 + x5 = 20, Xy ,xz, X3 >0~
Q.. ’

a) -~ Show thé’-tﬁ‘the gi\fgni‘iﬁatrix isﬁf@vié.gonaliggi};l%e and h 1te find dig%gnal form and

trans‘forrningi.m:%tﬁx Whg;_,

b) :Of the 64 off sprmgs of a certam cross betWeen gumea plgs 34 were red, 10 were
‘ black and 20 were - white. AQQOrdmg to@he generie. model these numbers should be in
o the 1atio 9 *\ <4, Use 2- test to check :whether t;xe data are consistent with the model.
c) Max. Z = 4%; 4 6xp =%, 2 — %5~ %37, Subjectto X, + x; <2and 2x, +3x;, <
; :‘12 X1, %320 by K—T condltlon ‘
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